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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=1o
=7 AN ot SEEm Sed fr :

(a) Define ‘Dominant strategy’.

“ASTTE] RPE S Al o |

(b) Find equilibrium price (P) for the
following market model :

Qg =25-5P and Q,=-5+10P
where Q4 = Q;
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(c)

(d)

(e)
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(2)

o IG[ SROR [ ST AN (P) e
sl
Qg =25-5P W® Q, =-5+10P IS
Qd=Qs

If le;| > 1, comment on the nature of the
commodity.

Tt ey | >1 2, THAGH eFS F*F ToNS
HSRCEAT |

If x=a-bP is a market demand
function, where x and P denote quantity
demanded and price of quantity, what
does a and b imply?

i x = a— bP I&A OIRRA T & IS x W
P @eq BIfewE AR S 79 R, (OER'TE q
e b @ o @ e

Total cost (C) = + total
variable cost

( Fill in the blank )
PIF(Q = + T ARG T7
(e 37 =51 =7 )

{ Continued )
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(9)
(h)
(i)

0)
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(3)

State the conditions of unconstrained
maxima with single explanatory
variable.

Bl WONES o7 WA ARmel 7270
ST 7Y 062 GeEs 91 |

What is linear programming?

IR s 2

What is Nash equilibrium?

Nash S9! fF 2

What is feasible solution?

SERY A fF 2

A consumer has a utility function
u = u(x) = ax?; his or her marginal utility
function is given by

G TTesred oAl oo
u =u(x) =oxP; 9¢3 AT S FECO!
2

() MU = axcP-1

(i) MU =pBx®"
(iii) MU = aBx®!
(iv) MU = anB_l
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(4)

2. Answer the following questions : 2x5=10
TS ffl IR Teq fora

(a) Find out the marginal revenue function

(MR), given the average revenue
function AR=10-0- 5q.

TS SR FTCOR °RT AfSF ST T (MR) fiefa
41, AR=10-0-5g.

(b) Determine the marginal propensity to
save from the following consumption
function when Y =97 :

Y =97 (e 9o SIS FEON A_l e
%Y 7] [T 0

c =1000- 2090
3+Y

(c) Given the total cost function
C =10000 +100g —10g> +%q3, find the

slope of marginal cost function.
I I/ T

C =10000 +100g-10g2 + %q""
9 {1 A1fEF I FoE AR fefy 3997 |
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(S)

(d) What is two-person zero-sum game?

Two-person zero-sum game < ?

(¢) What is Prisoner’s Dilemma?

Prisoner’s Dilemma & ?

3. Answer any four of the following questions :
5x4=20
O epR R e BifRbR Tes fore

(@) Deduce the relationship between AR, MR
and elasticity of dgmand using calculus.

SIFAT A ¥R AR, MR WF IR
RfemrreR T oo T8 T4 |

(b) Find out the output at which average
cost is minimum from the total cost (TC)
function TC =202 +5Q +18.

T I/ (TC), TC =202 +50 +18 ToFE [
TS I S R T ey <4 |

() Given the marginal revenue function,
MR=10-x, when x=5, find the
elasticity of demand.
f¥% I ¥+, MR =10 — x a1 Cags, SiwE
fEfoweee fdfy 331 @fem x =5.
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(6)

(d) The total cost function of a firm is given

(e)

by c = x3 —12x2 +36x + 8, where cand x
denote total cost and quantity. Find the
total fixed cost, average cost and
marginal cost at x =6.

q  ofeveR W TEEer  fom o cec,
o= x3 —12x2 +36x+8, TS ¢ TF x (IR
5 9@ S ARAA | PRI, TS W A
o < P T oA x =6 |

A monopolist’s cost function is given by
c = x2 +4x and his average revenue is
AR =28 —5x. Find his profit maximizing
output and maximum profit.

q&  GFOBA FRANG AT Al Wy,
c=x2+4x HF & WA (AR)=28-5x.

FAAER A dre] TRAM BI HF AT
&S T F41 |

In a competitive market model

Oy ==9+2P
Qd =Qs

The government imposes a tax of t per
unit of output. Find the value of tax rate
which will maximize total tax revenue.

( Continued )



(7)

S eRET T&[ S (b
Q; =30-3P
Q, =—5+2P

Q, = Q. HRINF TeAeH AfS 49 ¢ TS
9 19 FRce TP T T2 TS T I
2{ Sfered |

4. Answer the following questions : 10x4=40
o ZPAARS e foId ¢
(a) The demand and supply functions are
P; =(6 —q)2 and P, =14 +q respectively.
Find consumer’s surplus if demand and
price are determined under pure
competition.

IR S QA e ol @ Py =(6 - g)2
WF P, =14 +q, TR O WE T freg
oo ffe T, SUCER  tym
Sfered |
Or / G%41

State Euler’s theorem. In a production
function x = AK%LP, where x, K and |
represent output, capital and laboyr
respectively. Show that it satisfieg
Euler’s theorem when (o +f)=1. What
does the conditions @+f)<1 anqg
(. +p)>1 imply in the given production
function? 2+6+2=10
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(b)

8A/982

(8)

AR TAAICH! TwY AN x = AK AP
AT FoOre x, K WF L T oo,
T 9F e [HoeT SRR s @ %
AR SAAMICET R FE AR (@ +P) =1
| @S (o +p) <1 SF (o +P) > 1 = i
AW Feecod e e F63 2

A monopolist has the following total
revenue and total cost functions :

R =30x - x>

C=x3-15x2% +10x+100

Find () profit maximizing output
() maximum profit and (i) point
elasticity of demand at equilibrium level
of output.

& GHCOoH AT o S S Jo I T
TS frg 2%

R =30x-x2
C=x3-15x2 +10x+100
Refe w1 (i) ife AT e w9 (i) ST

M oF () ©RTW O/AMH g [{Y
RfSgrormrer |

( Continued )




(c)

8A/982

(9)

Or / 9241

The total demand of a product is
x=50-0-5P. Assume that the demand
functions of segmented markets are

X, =32-0-4P,

~and the total cost function is

C=50+40x, where x=Xx; +X,. Obtain
the profit maximizing outputs (x; and
X,); prices (B, and P;) and total profit.

9ol FEAR o 6 x=50-0-5P. @1 ¥’
@ I &oFe9 THRF BIfRAT Folel C2R

X, =32-0-4R

X, =18-0-1P,

TFE P I® Foo C=50+40x, T’®
x,) T (P, W P,) SIF Yo =S ffiae 41 |

Describe the ‘maximin’ and ‘minimax’
principle of game theory. What do you
understand by ‘pure strategy’, ‘mixed
strategy’ and ‘saddle point’?

Game theoryd ‘maximin’ 9% ‘minimax’
NfSH1 a4 F91 1 ‘Pure strategy’, ‘mixed
strategy’ =¥ ‘saddle point’ Jfeica o &
&1 ?
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)

( 10 )
Or / J2<1 3
Given the following pay-off matrix, of
FIEEA -
Firm B
B By Bs

AN T
Fime AR Ao B RIS AR 8

What is the optimal strategy for both the
firms and the value of the game?

©oTs 2AfSP AT pay-off matrix fral 2= :

#4f&B1 B
By By B
A2 12 . 4
AMBAA, Az | 1 4008
Ashlh=5% 2% U3

A1 Y99 optimal strategy ¥¥ value
of the game f$ 277

(d) What are the assumptions and
limitations of linear programming?
Make the general formulation of linear
Programming technique.
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(11)

IR TRET @FPER SR S Aamael-
92 ¢ 2 RE GRe FE@ss TeET aoe-

PP fer3 |

Or / F3<1
Using graphical method sclve the
following linear programming
technique :

Maximise © = 50x; +30x,
subject to
2x; +x, <14
S5x; +5x, <40
x; +3x, <18

and x;, x5 20.
G AwfS acael SR AL 1 :
A 91 1 = 50x; +30x,

subject to
2x; + x5 <14
5x; +5x, <40
x +3x5 £18

le, x2 =0.

* Kk
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